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A Level H2 Math

Differentiation and its Applications Test 6
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Answers

Differentiation and its Applications Test 6

Q1

d dx )
(iii) d—y —14+2e and &£ o1 2e™

t dr
dy _1+42e”™
dr 1-2e™
4
Atl1=2, x=2+¢*=201832, y=2—c* =198168 and & — 1*;"74
— e
. _ 2e -1
Gradient of normal = =-0.92933
1+2¢™

Thus, an equation for C, is y—1.98168 =—0.92933(x—2.01832)
ie. y=-092933x+3.85737
i.e. y=-0.929x+3.857 (correct to 3 d.p.)

(iv) AtpointAd,y=0
0=-0.929x+3.857T=x=4.15178
Coordinates of A are (4.15, 0)
Sketch of motion of particle:

A
y

(2.02,1.98)

ol

\ A (4.15,0)

(1,-1

(v) Consider the curve C; when y =0,

t=e and solving by GC, 1 = 0.4263
Thus, x =0.85261

Required area
2.02 4.15

= [ yde+ [ (-0.929x+3.857) dx

0.852 202

= i (r—e’z')(l—Ze’z’)dt+4f(—0.929x+3.857) dx
= 35576 units
= 3.56 units’

Contact: 9855 9224



Danyal Education Contact: 9855 9224
“A commitment to teach and nurture”

Q2
(i) Perimeter of cross-sectional area =100 =(2a +4b) + % (27a)

=100=4b+a(7+2)
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